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2 (z9%| 2 | e T aaw aw= |30
2 A 54.1 45.6 56.5 42.6 50.6 49.9
d = .
2024 FAA| 782 64.9 85.5 68.0 79.0 75.5 384.5
003 A 479 425 54.9 46.5 389 455 2510
13 Ax | 735 60.9 83.6 75.5 59.8 69.7 '
= 2. 473 7.9 46.2 48.1 1.9
2022\ A 62.0 > 6 8 > 396.0
StAZzL | 85.7 69.4 80.9 76.0 75.1 77.2
2 2 1.37 411 . 44, 4713 | 487
0214 | A 5 5 60.86 06 8.75 2685
stAx} | 71.95 58.09 88.85 71.08 | 7323 | 72.69
= ) 46.3 2.52 . 1 3.3
20204 | A 58.50 6.30 62.5 50.89 | 50.16 | 53.35 2835
S+AZ} | 79.35 61.16 86.70 7755 | 7439 | 75.69
2 2 63 3.4 83 | 4693 | 4723 1.93
20194 | A 55.6 53.40 58.8 6 51.9 2685
stAz} | 75.07 72.95 81.85 70.80 | 67.20 | 73.00
= 2.54 1.69 4. 4943 | 47.84 81
20184 | A 52.5 51.6 54.06 9 8 50.8 -
stAx} | 72.33 69.87 78.97 7740 | 68.66 | 73.01
2 2 . 29 441 | 4621 | 47.21 1.7
0174 | A 56.65 56 5 6 51.70 379.0
StAZ} | 78.94 75.61 77.12 7227 | 69.00 | 74.08
= 4.4 1.63 . 45.4 45.69 92
20164 | A 54.46 51.6 59.99 5.45 5.6 50.9 2815
StAZF | 79.14 71.03 84.77 7155 | 70.04 | 74.83
A% 2.2 1.73 49. 4594 | 41.72 | 47.72
20153 A 52.26 > 995 > 344.5
StAZF | 70.20 73.43 72.98 68.18 | 61.12 | 68.45
A 57.36 59.62 5826 | 4732 | 4767 | 53.47
20143 A 393.5
StAZ} | 82.58 77.30 82.12 75.78 | 7058 | 77.03
A% 40.01 42 .44 4713 | 421 4179 | 42.62
20133 A 0.0 > 6 330
StAZ} | 56.35 63.32 68.56 67.60 | 63.66 | 63.90
0124 AA | 5212 | 5253 | 5030 | 4011 | 4513 | 47.77 B
T &8AR| 7046 70.34 70.24 54.73 | 6193 | 6521
0114 AA | 4921 | 4769 | 57.08 | 4344 | 38.82 | 46.68 .
1A | 6383 | 6745 | 7860 | 6349 | 5481 | 64.65
20104 1 A 42.43 47.03 52.08 | 45.66 | 44.03 | 46.04 B
S8 AR| 5761 | 6510 | 7195 | 66.77 | 6149 | 64.30
20004 AA | 5165 | 4753 | 5258 | 4433 | 4937 | 49.12 B
S AR 6332 | 6343 | 7262 | 6222 | 6655 | 65.71
50084 A 49.32 66.68 55.26 | 49.18 | 4610 | 52.65 B
T &84A2| 6019 78.64 73.82 6498 | 5948 | 66.70
20074 A 55.74 60.31 5792 | 5754 | 5121 | 56.06 B
T &84Aa| 6511 71.81 72.51 7094 | 6193 | 67.86
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